Hudpopmanus no 3arpyske (apTo)rpancopmaropos Ha IIC 220-110kB AcTaHHHCKOr0 HeproysJa
Ha 3 xBapTaia 2019 roaa, no cocrossauio Ha 01.07.2019r.

No Jducn. YcTaHOB/IeHHAs] MOIHOCTH 3arpy3ka 3arpy3ka 3arpy3ka ogHoro
i Hanmenosanue IIC HAMMH. TpaHncdopmaropa TpaHcdopmaTopa TpaHcdopmaTopa TpaHcpopmaropa
Tp-poB MBA MBT MBT Y% Y%
1 |TIC 220/110/10kB Bareic A = 23 s 33 66,3
2 |[1C 220/110/10xB Jloctsik A = 23 e X 30.8
3 [TIC 220/110/10xB LsIreic 2%; %28 %ég o%xén O%Ifﬂ 0.3
4 |TIC 110/10xB Apman = 2;3 2:2 %Zg §g:§ 85,7
T-1 63 56,7 9.8 17.3 37,2
5 |TIC 110/20/10xB Aspomopt %g ?2 ?46“71 1411 53 ;?g 59.0
T4 16 14.4 4.0 278 ’
6 |IIC 110/20xB Baiirepek %:é gg gg; %31; g; 6.9
7 |IIC 110/35/10xB Bocrounas %:é 38 gg i%(l) 3(3)2 64,2
8 |IIC 110/10xB BIIP Tl 63 56,7 5.2 5.2 20,6
T-2 63 56,7 6.5 11,5
9 |IIC 110/10xB I'opoxckas %é 38 gg gg ggg L7
10 |TIC 110/10kB YKana YKo H 28 ;% 1332 %:2 48,2
11 |IIC 110/10xB Xy3x1b13 ?:é 38 gg i?glg 23213 858
T-1 10 9 3.9 433 75,6
12 |TIC 110/10/6xB 3amannas %g j{g 396 ég 3()% é2 58
T4 40 36 1.8 5.0 ’
13 |TIC 110/10B 3apeunasn g gg 223 1235 5233 425
14 [TIC 110/10xB UKH g 18 2% >3 2 25,7
15 |TIC 110/10kB Kapaotkens T-1 25 22,5 3.1 13,8 13,8
16 [TIC 110/10xB Kepamuka %:é 12 }33 O%KZH oleH 14
17 |TIC 110/10kB Knposa ¥; %g §§§ 19(5,14 3% 86,7
18 [TIC 110/10xB Kuposa-2 %; 38 gg i; 135:33 18,6
19 [TIC 110/10kB Koktem ¥; gg 2233 }3;3 5(3):3 54,0
20 |TIC 110/10xB JlesoGepexHas %:; gg gg; %g? gg% 69.8
21 [[IC 110/10/6xB Hacockas = 2 23 = s 25,3
22 |TIC 110/10xB Hosas = - - 5 33
23 |TIC 110/20B Onumn ¥; gg 2233 232 }(1)32 21,7
24 |TIC 110/10xB TTH® ¥; 38 32 5(1):‘5‘ §833
25 |TIC 110/35/10xB Tlpowsona = =2 536?7 16(;?2 }Zjé 4.8
26 (TIC 110/10xB Crennas ¥:; 38 gg gg 343‘,411 47,5
27 |TIC 110/20xB Typas = o z T 17 9
28 |IIC 110/10xB LlenTpasnbhas ¥:; 38 gg igg 32,; s
29 |TIC 110/10xB Uy6aps! H 2§ 22; i%jg %:é 43,0
30 |TIC 110/10xB IlkonbHas ¥; 38 22 180,’28 33:3 52,8
31 |TIC 110/10xB FOsxuas H %g §§§ 2;? %3:3 49,3
32 |TIC 110/10xB Acrana ¥; 2§ §2;Z }§;§ 33? 65,3
33 |TIIC 110/27,5/10xB Actaia 1 e 36 e o4 73,1
3 |TIC 110/10xB 3asoncxas = e % 23 o 6.4
35 [TIC 110/10xB I3 = o 3 %g g:g 11,9
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